Advanced Partial Differential Equations Professor Doctor Kaushik Bal Department of Mathematics and Statistics Indian Institute of Technology, Kanpur Lecture – 31 Rankine-Hugonoit Jump Condition

(Refer Slide Time: 00:13)

0  $\int_{0}^{\infty}\int_{0}^{\infty}\left[uu_{t}+f(u)v_{x}\right]dxdt + \int_{0}^{\infty}\phi(x)v(x_{0})dx=0.$ 101% and the above is true for any  $v \in C_c^{\infty}(\mathbb{R}^n \times \text{toros}))$ . W 1 1 : "u" is a weak solution of D. Note: Weak pollutions may not be continuous. but it does have restrictions on the type of discontinuity. Weak Solution :

So, welcome students and in this video we are going to continue our study of weak solutions. And the basically the as we have seen that weak solutions may not be continuous. So, let me start with a weak solution. (Refer Slide Time: 02:21)

$$(x + 5)$$

$$(x +$$

(Refer Slide Time: 09:57)

$$(x + 4)$$

$$(x +$$

## < + ←

## 🛡 🖗 🖉 T 🗆 🛞



(Refer Slide Time: 15:53)

♥ 0 0 0 0

Other the curve of discontinuity.  
Proof : If u is a weak sole of () then  

$$\int_{0}^{\infty} \int_{0}^{10} \left[ uv_{t} + f(u) V_{x} \right] dx dt + \int_{-\infty}^{\infty} \phi(x) v(x;0) dx = 0. \quad \forall \quad v \in C_{c}^{\infty}(\mathbb{R}^{N} \times [0; m))$$
Let, v be a smooth function with  $v(x;0) = 0.$  and dufine  

$$\Pi^{c} = \int_{0}^{c} (x;t) : 0 < t < \infty > -\infty < x < 0.0^{2}$$

$$\Pi^{d} = \int_{0}^{\infty} (uv_{t} + f(u) v_{x}) dx dt = \iint_{0}^{\infty} (uv_{t} + f(u) v_{x}) dx dt$$

$$\int_{0}^{\infty} \int_{-\infty}^{\infty} (uv_{t} + f(u) v_{x}) dx dt = \iint_{0}^{\infty} (uv_{t} + f(u) v_{x}) dx dt$$

$$V^{c} + \iint_{0}^{\infty} [uv_{t} + f(u) v_{x}] dx dt = v.$$

(Refer Slide Time: 23:23)

$$(+ 5)$$

$$(-) = T = 0$$

$$(-) = T = 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-) = - 0$$

$$(-)$$

## 

(Refer Slide Time: 28:59)

$$(+ 1) \quad | U = U - u^{\dagger} = jump of u a cross the discontinuity = $ (u) = U - u^{\dagger} = jump of u a cross the discontinuity = $ (u) = $$$

This relation this is called the Rankine-Hugoniot jump condition. Rankine-Hugoniot jump condition. So, with this we are going to end this video in the next video we are going to take up in problem and I am going to show you how we can use this condition to find solutions.